Question ID:1441, Code:
Section:General Aptitude
Question:Fill in the blank with the correct option.

Copper is ___ most useful Metal.
A a

B an

C the

D No Article Required

Answer Given By Candidate:D

Question ID:1442, Code:
Section:General Aptitude
Question:Which of the following is an Interrogative pronoun?

A Whose

B That

C Yours

D Mine

Answer Given By Candidate:A

Question ID:1443, Code:
Section:General Aptitude
Question:I shall have read that book by then.

This sentence is in which tense.
A Simple present tense

B Future perfect tense

C Simple future tense

D Future continuous tense

Answer Given By Candidate:D
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Question ID:1444, Code:
Section:General Aptitude
Question:Choose the correct meaning of the given idiom/phrase from the given options.

"Works like a charm"

A Imaginary prize for the last person in a race
B Works very well or as effectively

C Would never like to do something

D Coward

Answer Given By Candidate:B

Question ID:1445, Code:

Section:General Aptitude

Question:What is the value of 80% of 310?
310 & 80% AT A T 872

A 222
222

B 230
230

C 248
248

D 276
276

Answer Given By Candidate:C

Question ID:1446, Code:

Section:General Aptitude

Question:If 30% of a number is 23.7, what is the value of 60% of that number?
afe; foneft T &1 30% 23.7 €, df 39 T=AT & 60% ohl T &RIT 872

A 455
45.5

B 54.8
54.8

C 474
47.4

D 81.2
81.2

Answer Given By Candidate:C
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Question ID:1447, Code:
Section:General Aptitude
Question:When two dice are thrown at the same time, what is the probability that their
sum is an even number?

T4 &I U Teh IG1Y theh ST 8, df 9T 9TaAT & foh I77ehT Ol 99 Tt gi?

A 3/2
3/2

B 7/2
7/2

C 1/2
1/2

D 1/3
1/3

Answer Given By Candidate:D

Question ID:1448, Code:

Section:General Aptitude

Question:The base of a parallelogram is 10 cm and its height is 5 cm. What is the area of
the parallelogram?

Teh GHIAR IgHST ol &9 10 cm & 3R 39! $a18 5 cm g | THIR IS I &thel T §?

A 2cm?
2 cm?

B 5cm?
5 cm?

C 15cm?
15 cm?

D 50 cm?
50 cm?

Answer Given By Candidate:D
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Question ID:1449, Code:
Section:General Aptitude

Question:What is the value of ’Cg in terms of combinations?

Tt & Geof & 7Cq o1 o1 o 82

A 22
22

B 35
35

C 50
50

D 63
63

Answer Given By Candidate:D

Question ID:1450, Code:

Section:General Aptitude

Question:Identify the correct option regarding the statements & conclusions given below:
Statements:

1. All cups are books.

2. No books are shirts.

Conclusions:

1. Some cups are shirts.

2. No shirts are books.

T fouw T Syt 3R Al o dey § Yot fdehed ht uge e
hY:

1. 9t &y fordrs g1

2. s fohdrer <1 781 21

fArsep:

1. 38 HU A B

2. iE ¢ fohdra 78l 81

A Only conclusion 1 follows.

charel fSehY 1 SERUT T 8|

B Both the conclusion 1 and 2 follows.

fseny 1 3R 2 ST 3RO i g

C Only conclusion 2 follows.

haet fseRe 2 STTEROT ohaT B

D Neither conclusion 1 nor 2 follows.

T at fAseref 1 3R 9 8t 2 IERUT T B

Answer Given By Candidate:C
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Question ID:1451, Code:PA 1049
Section:General Aptitude
Question:Refer the table to answer the Question:

-

2011
B Hyundai
<010
0 B Honda
B Maruti
1.05
1.3
1.2
+ + - .
0 05 1 15 2 25

What is the average sale of cars in M;ruti company from 2009 to 2011 in a given graph?

U9y ohl 3<% &4 o forw arferent 3

-

2011

¥ Hyundai |
W Honda
B Maruti

2010

2009

ﬁ 0;5 1 1:5 2 25
g g T & 2009 @ 2011 T FRR(Maruti) ot & @l 6t i Rk a 22

A 1.7
1.7

B 2.8
2.8

C 34
3.4

D 25
2.5

Answer Given By Candidate:A
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Question ID:1452, Code:
Section:General Aptitude
Question:Complete the analogy:
ACE:GIK:: MOQ:__

G TR e

ACE:GIK:: MOQ:__

A SUW
SUW

B AZX
AZX

C BXA
BXA

D TAC
TAC

Answer Given By Candidate:A

Question ID:1416, Code:

Section:Reasoning

Question:Arrange the following words as per their order in an English dictionary and
choose the word that comes last:

Avenue, Arithmetic, Avenger, Ampere

fmfef@a ereat sl St reaentar # I7eh oA & IR HAfRAd e 3R TaY 3id H 3714 g1l 206 A

Avenue, Arithmetic, Avenger, Ampere

A Avenue
Avenue

B Arithmetic
Arithmetic

C Avenger
Avenger

D Ampere
Ampere

Answer Given By Candidate:A
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Question ID:1417, Code:

Section:Reasoning

Question:In a certain language,

'Come To Home' is coded as 'Fa Ta Ha'

'Go To Home' is coded as 'Ta Ja Ha'

'Come For School' is coded as 'Fa Ya Ka'

Then what is the code for 'Come'?

U fAfYa e 4,

'Come To Home' & 'Fa Ta Ha' & &4 & &ifed forar mar @
'Go To Home' &l 'Ta Ja Ha' & ¥4 # shifed fhar mar g
'Come For School' @ 'Fa Ya Ka' & &4 & ahifed fhar mar g

dt ffiR 'Come' & foIQ ohis T 82

A Ka
Ka

B Ja
Ja

C Ta
Ta

D Fa
Fa

Answer Given By Candidate:D
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Question ID:1418, Code:
Section:Reasoning
Question:See the given figure,

M K

L

If Kis to the North of L, then find the direction of M with respect to L.
QY TS STTPfd &,

L
g K, LHIRAE, d L & deg d M &6 e 1d HifSig

A North-East

SR-gE

B West
ufgH

C South-West
efaur-ufgg

D North-West
IIR-ufgy

Answer Given By Candidate:D
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Question ID:1419, Code:
Section:Reasoning

A

GEI' Il ON

Google Play

Question:In a class of 40 students, Rakesh ranked 4™ from the Top. Then what is his rank

from the bottom?

40 BT S Uep el H, Jhe MY F 9 @= R 911 af i @ It I =1 8?

A 318t
31 df

B 36th
36 di

C 32nd
32 df

D 37th
37 &

Answer Given By Candidate:D

Question ID:1420, Code:
Section:Reasoning

Question:There are four girls namely- ], K, L. and M are sitting in a row facing North. K is
sitting at the right end. J is sitting to the immediate left of K and to the immediate right of
M. L is sitting to the immediate left of M. Then who is sitting third from the Left end?

IR efhal & - ], K, L 3R M Teh tfch H TR ol 31R 7d divch 981 81 K 30 B8R R A& 81 J, K & Step o
3R 3R M o Sieh arif 3R §81 §1 L, M o Sleh IRif 3R &S 81 df 918 B § AR R UR &bl 87 82

A L

B

D

(@)

Answer Given By Candidate:D
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Question ID:1421, Code:

Section:Reasoning

Question:Study the following arrangement and answer the question:
RYKMBNESUQLWTIAD

Which of the following letter of an English alphabet is 41 from the right end in the above
arrangement?

fAmfoiea soeawn &1 e &R 3R U &1 IR 2

RYKMBNESUQLWTIAD

IURIh TaRAT | SHSi quidTelt ot fAAfifed # @ i 97 97eR &’ R & I g?

A A
A
B E
E
CT
T
D D
D

Answer Given By Candidate:C

Question ID:1422, Code:

Section:Reasoning

Question:Dinesh is the brother of Rahul and Rahul is the son of Sujata. How is Dinesh
related to Sujata?

f&T gt a1 ATE § 3R gl YoIrdT ahl sieT & | feALT Foiran & fohd TehR Eeifard g2

A Son
Era|

B Husband
ufa

C Father
foar

D Brother
0T

Answer Given By Candidate:A


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

= GEI 11 ON
A Google Play

Addaik2y7

Question ID:1423, Code:
Section:Reasoning
Question:What is the value of given numbers if the last number is multiplied to the sum
of the first two numbers?

The three numbers are 20, 40 and 60 respectively.

g aifam e ot uget af dearsii o I © 1o foRaT STy o & 718 Te=ansit ot A ot 82

i T=aTd shus: 20, 40 3R 60 g1

A 3600
3600

B 3280
3280

C 3420
3420

D 3200
3200

Answer Given By Candidate:A

Question ID:1424, Code:
Section:Reasoning
Question:Complete the series:
96,48,24,12,

YT G e

96,48,24,12,

A7
7

B 13
13

C 6
6

D 17
17

Answer Given By Candidate:C
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Question ID:1425, Code:
Section:Reasoning
Question:Complete the given series:
H17,119,]21, K23, ____

&1 TS S T QT Y

H17,119,]21, K23, ____

A L25
L25

B D27
D27

C M27
M27

D L26
L26

Answer Given By Candidate:A
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Question ID:1426, Code:
Section:Reasoning
Question:Find the Venn diagram which best represents relation between:

Input device, Joystick and Light pen
Ig A SIRW Wil 511 37eh ofl HaY ehl FalH ¥ I gidT 8:

gqe f3a1sy, SifafRe ofk oge o
A @O
(0)0

B

98 0© @0

Answer Given By Candidate:B
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Question ID:1427, Code:
Section:Reasoning
Question:What is correct water image for the following?

HONEST

P T T A A R A T R N

?
Rt & forg we) orer ofd 71 82
HONEST

P T A A R A A T R N

2

A HOMEZSL
HOWUEZL

B 1S3INOH
1S3INOH

C T23WOH
T23dU1U0OH

D TZEWOH
TSEWOH

Answer Given By Candidate:A
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Question ID:1428, Code:
Section:Reasoning
Question:Identify the figure which replace a question mark in the given pattern.

1B @ @ @

(X) (1) (2) (3) (4)
39 3MTd ol uga sit feg 7g et & g g ot ufoenfia st 81

7
A T2
(X) (1) (2) (3) (4)
A1
1
B 4
4
C 2
2
D 3
3

Answer Given By Candidate:D

Question ID:1202, Code:
Section:Mechanical
Question:In engineering metrology, what does the term "tolerance" refer to?

SSNTafaT Aciatet |, "SioRd"" 275 fohd TGiHd hedl g2

A The difference between the maximum and minimum permissible limits of a
dimension.

forelt s Y sifderan SR =gAaw Wienrd Attt & off= a1 sidR|

B The nominal size of a component.
fohelt TR T ATHHAT SRR

C The intentional difference between the sizes of mating parts.

GTRT AT oh TR oh ST SITHeEIRE |

D The actual measured size of a manufactured part.
fAfdfa T o1 arzafdes wmar T SRR |

Answer Given By Candidate:A
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Question ID:1203, Code:
Section:Mechanical
Question:Which one of the following comparators is based on the principles of optics,
using illumination, lenses, and mirrors to project a magnified silhouette of the part onto a
viewing screen?

fFafafEa d @ o= a1 rkex Siffea & fRAgidi uR SuTiRd €, ST UeahIsT, A 3R gUUTi ahl IUTNT ehich
T I Srafdd STt Toh §T Thi- TR UT& el 872

A Mechanical Comparator

AchfAehel hriRex

B Electro-Mechanical Comparator

goAael-HohAehel hFIRER

C Optical Comparator
Tfehel HFRT

D Pneumatic Comparator

IO SRR

Answer Given By Candidate:C

Question ID:1204, Code:

Section:Mechanical

Question:In a Michelson interferometer, what will be the resulting fringe pattern if the
two mirrors are positioned at equal axial distances from the rear face of the plate and are
perfectly perpendicular to each other?

HIZhAT SR H, Tfe af gUT wie & fUset Wit 8 I s1efta ¢ iR fRq gf au1 geh g & gufa:
cierad gt, at aRumHt kst de arm ghm?

A The central fringe will become minimum.
e kst =gaw gt S|

B The central fringe will become maximum.
el st sifdendw g sraem|

C The central fringe will be dark.
her fThsT ahrer g

D The fringes disappear completely.
fihs O aRg & e gt SIe|

Answer Given By Candidate:Not Attempted
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Question ID:1205, Code:
Section:Mechanical
Question:Which instrument uses a spirit or bubble level to measure angles of slopes or
heights relative to gravity and also assess the straightness and flatness of surfaces?

Il TT JUSHRUT T&AThYUT h HTUET ST AT SHaATsdl & hivT &l ATYA & fag FARe a1 st diget 1 Suai
T & 3R Flg! &t Hrems SR FuTeaT o1 i 3iTenel e 8?

A Plumb Bob
i Si9

B Sine Bar
glgd diR

C Bevel Gauge
gt Tt

D Clinometer

FAeR

Answer Given By Candidate:B

Question ID:1206, Code:

Section:Mechanical

Question:Which of the following characteristics makes a slip gauge an essential tool for
precision calibration in dimensional metrology?

Teaoig # ¥ oig 1 fawar Teg o= &
HIITHT AT 3 Tl HATehel & (oIl Th
HTIATF STUHLOT JTar &7

A High thermal expansion coefficient to adapt to temperature variations.

aTuaTe fHeeTaratt & 3eger glet o for
=9 dIUIT WHR 06|
B Universally accepted "Standard of length" to measure linear dimensions precisely.
T8reR 3TATAT 1 TP T H AU o oy
Taifie ¥7 & Tipd "HaTE H AES"

C Constructed from lightweight material for ease of use.

SO F 3THTET F T ge uary @ AT

D Equipped with a digital readout for direct dimensional measurements.

UcTET HTITHT AT o TorT Bfeee fzamse
¥ gaiead|

Answer Given By Candidate:B
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Question ID:1207, Code:
Section:Mechanical
Question:Which one of the following optical instruments combines the functions of both
a collimator and a telescope to measure small angles with high degree of precision?

fAfafRaa & & ont= a1 siffieenel SURuT 3= URSLGAT o TTY Bl hivT vt ATIA & T Tak difeder sik
Qoh GRSl (Sefehia) &I S il ohl STiedT 8?2

A Protractor

Meaex

B Sine Bar
gled diR

C Autocollimator

e

D Spirit Level
fafke dae

Answer Given By Candidate:C

Question ID:1208, Code:

Section:Mechanical

Question:What method is used for making predictions based on time-stamped data,
particularly when dealing with a large amount of non-stationary data for accurate
forecasting?

THI-Hfed 37 o ATYR W Yaiga™ o+ o forg fong fafer a1 Suai forar sirar 8, @R 59 aéian
gafaH o g a8t A # IR-fRR a1 & fAuer gidr 8?2

A Time Series Analysis

THY el fasawor
B Causal Modelling
ehioter HigfelT
C Qualitative Forecasting

TUTTHS GafgAT

D Monte Carlo Simulation

Hie ehTell AR

Answer Given By Candidate:A
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Question ID:1209, Code:
Section:Mechanical
Question:Which production forecasting model is most suitable when launching a new
product in the absence of historical sales data?

BfeTiieh fosht ST 1 SIUfRAfd & 73T IR Sivd Shed THY i IT IATG JaTJA Alse Tad IUGh 67

A Time Series Analysis

AT gt fasawor

B Causal Modelling
ehisTel ATl
C Qualitative Forecasting

TUTTHe GafgAT

D Regression Analysis

ufermae faseor

Answer Given By Candidate:A

Question ID:1210, Code:

Section:Mechanical

Question:Which of the following strategies in Aggregate Production Planning maintains a
constant workforce while managing demand fluctuations through inventory and
backorders?

AT IATeA Ao 7 Ffelf@d J @ ol Y oI 3a¢T SR dahraiis o ATeH § A § SdR-9¢1d &l
U S §Q Ueh AR shrdferet aH1q 3@t 8?2

A Chase Strategy
ST IO

B Demand Management Strategy
HIT geie U1

C Hybrid Strategy
gTsfors worifa

D Level Strategy

Y

Answer Given By Candidate:B
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Question ID:1211, Code:
Section:Mechanical
Question:In a Level Strategy for Aggregate Production Planning, how are periods of
customer demand exceeding production capacity typically managed?

Y IATE TISTT o fol¥ Ueh TR IUMHITT H, UTgeh bl AT hl 31afd vl ITE &1HdT T 31fdeh hd vefdd
forar SiTar 82

A Outsourcing non-critical production tasks to third-party manufacturers while
maintaining constant production levels.

fARAR It TR 1Y 3@ U AR Uel & FRAfansif el iR-Agweryul Icre sl et Srseatd e

B Building up inventory during periods of lower demand to meet higher demand later.

STe B I HiTT Y QX e o 1T v 7T ht 1afdy & SR gdél ot Fmfor e

C Using subcontracting and overtime to match demand fluctuations.

HiT H IAR-TGIT ¥ Al @A o folg IU-31ae 3R 3fIaReTsH AT IUTNT AT

D Implementing demand forecasting to eliminate inventory reliance.

gd¢l feiRar st @ @A & g /T gatga™ at g s

Answer Given By Candidate:A

Question ID:1212, Code:

Section:Mechanical

Question:A sealed container holds a gas sample with an initial pressure of 200 kPa at 300
K. When heated to 350 K, the pressure rises to 250 kPa. Once cooled, the pressure returns
to 200 kPa. The changes in pressure and temperature depend only on the current state of
the gas, not its heating or cooling.

Which statement best explains the behavior of temperature and pressure?

Qeh HieTeig ehe-R | 300 K 1R 200 kPa & URfH gaTd & 1 Yeh 19 &1 AT &1 Sie 350 K des 7+ fohar
SITdT 8, df gara 250 kPa e 8¢ SIIdT 81 381 814 WR, a1d 200 kPa UR arqd 31T ST g1 &&Td 7R argH=
# uRad™ thad 19 &l gaqE [T R R s=ar g, 7 o I 71 8= a1 3371 819 R

i 9T YT dTIH 37R a1 o AR hl oY 31! dig I JHSATAT 872

A Pressure and temperature are path functions and depend on how the container was
heated or cooled. .
&aTd 3R IO Y Tl & 3R I8 39 IR (3R ohzar g foh dheeR ol ot 71 a1 St fomarm |

B Pressure and temperature are extensive properties, determined by the amount of gas
in the container.

dTq 3R ATgHT ayeh 0T 8, St ehdR | 1 &t A 9 ReiRa gia &1

C The pressure inside the container cannot change unless the container's volume
changes.
ST6 dh herR T ST ol JGeldT e dch therIX o 37X ol GATd ol dGel HehdT|

D Pressure and temperature are point functions, depending only on the current state of

the gas.
&q1d 3R ITUHH foig Here &, STt chael 19 hl ada™ f[RAfd iR Rk i 8|

Answer Given By Candidate:D
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Question ID:1213, Code:
Section:Mechanical
Question:The first law of thermodynamics states that energy transfer as heat and work
affects a system's internal energy. Now, assuming a ball with air resistance, energy is
transferred as heat from one system to another, altering kinetic energy and velocity.
What happens to the final velocity and kinetic energy of a ball with air resistance?

SSATTch! T TgelT [aH FardT ¢ foh AT 3R rd & =0 7 91t o1 =iriaRor fohddt otrett i sriaRke
ot ehl YT ST &1 31e, arg UfaRier & A1 Yeh 711G Shl AT §Q, Ho1l HBAT oh &Y H e UUTTe! § &
JUTTel! § IR gid! 8, o fast et 3k o & ulkad= giar 8

arg ufaRiy arett g & sifaw a1 SiR 7ifast et R m e ggm?

A Both will increase

B Both will decrease

I e

C Kinetic energy will decrease and Final velocity will increase

TSt Sott Tt 3R Siferd e s

D Kinetic energy will increase and Final velocity will decrease

TTferst Soif dgft 3R sifer v e

Answer Given By Candidate:C

Question ID:1214, Code:

Section:Mechanical

Question:What is the main purpose of the boiler in a simple vapor power cycle of a steam
power plant?

Y 21k TG h op ATYRUT IS LM<k deh H S19elR T & Ie.T KT 6?2

A To produce high-pressure, high-temperature steam.
I GITq 3R = dTUHTH dTelt {Td 3= heAT|

B To condense steam into water.

AT eht Ut & TgiHd ATl

C To cool the working fluid before reuse.

g IUANT 9§ Uge Shrifiel g ent ST T

D To directly generate electricity from heat.

AT @ Hie fostelt I ATl

Answer Given By Candidate:A
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Question ID:1215, Code:
Section:Mechanical
Question:In which phase of the Diesel cycle,do the high pressure and high temperature
gases expand and perform mechanical work?

SISTet Ish o foh =RUT #, IeT ga1g 3R I=T dTUHT aTel! 19 thetd! g 3R Fifeh o et g2
A Isentropic compression

B Isentropic expansion

C Constant-pressure heat addition
ZaTd AT HaoH

D Constant-volume heat rejection

fRR-3mad o1 Srefipfa
Answer Given By Candidate:C

Question ID:1216, Code:

Section:Mechanical

Question:Why was the Kaplan turbine chosen for a hydropower station with a high flow
rate and low water head, given its adjustable blades?

Qoh I AT & 3R S STeleaR dTet STelide]d €M o el huelT <A1 ohl 3Tk AT sl g h hIRUT
gt AT TIT?

A Its adjustable blades maintain efficiency at variable flow rates.

39 JHTIINY &8 URAAHIT UaTg SRIUR G&TdT 9114 3&d 8

B It operates efficiently at high heads and low flow rates.
gg 3= MY 3R A Uarg &R IR UHTd ®Y § d=nferd gidr gl

C Itrequires less water flow compared to other turbines.

31 Tafgl &Y o1 H 38k foIg A STeT UaTg &l SHTa=TehdT gl & |

D Its horizontal shaft is better suited for low water head conditions.

zqah! &fast e oA STeT 2fi fRfaa & forg Sgar sree 8|

Answer Given By Candidate:D
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Question ID:1217, Code:
Section:Mechanical
Question:Which component in the refrigeration cycle increases the pressure of the
refrigerant gas?

RTRSIRIM Teh | hil 9T Ueh ATholie 119 & dTd & Saldl g2

A Compressor

HUTR

B Condenser

thedaR

C Evaporator

D Expansion device
JYhUT

Answer Given By Candidate:A

Question ID:1218, Code:
Section:Mechanical
Question:Why is a harder and stronger cutting tool used in machining?

ARfAT A Teh SRR 3R ASTEd i et <1 IUTNT T feha ST 82

A To reduce energy consumption

3olt hY WU ahl A T o folg

B To increase the temperature of the workpiece

JhdIg & dIIH & M & fog

C To deform the workpiece more easily

ghUIT ohl 3ifdeh ST & fAehd et o foig

D To prevent excessive wear of the tool

¢l e TR fEgTe et Aehd o iy

Answer Given By Candidate:C
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Question ID:1219, Code:
Section:Mechanical
Question:Which of the following machining process uses multi-point rotating cutters to
remove material from a stationary workpiece?

fFafafaa 7 @ o9 ot a:ifSr ufthar fRR ahdia O arrfl ot gem & g aedi-utge AefeT ehex o Iua
Tt 87

A Milling
fafe
B Turning

fH

C Grinding
DK

D Shaping
AfTfT

Answer Given By Candidate:A

Question ID:1220, Code:

Section:Mechanical

Question Which part of the single point cutting tool is responsible for making sure there
is space for the tool to move without interference?

f&Trer dide fdn gat ot onta a1 fawan ag gRfgd oA & forg SimsieR & o ot ot fom foneht saqem & gem
& forg SwTg fae?

A Nose
s

B Flank
Tich

C Rake Angle
Ik T

D Clearance Angle

FAIT U

Answer Given By Candidate:D
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Question ID:1221, Code:
Section:Mechanical
Question:Which of the following is a key consideration when designing a jig or fixture for
a machining operation?

AT SifaReM & forg fonT ar fhera=r il {3 hd THa SlH-91 WiRa SRek &1 | @1 91gy?

A The clamping and locating points are adjustable and efficient

FATT 3R Akl Ulde gHM™ST 3R gHTet 8f

B Minimize the use of handles to save space

I §9 & T 881 T ITTNT T T Y e

C Use one clamp to reduce material cost

Tt NI ot & e oh fold Ueh TiT ol ST e

D Use sharp edges on the fixture to improve cutting performance

e oh UeRiH i dgaR I o fol¥ ftharaR R JRE fhaRT a1 ITTT e

Answer Given By Candidate:A

Question ID:1222, Code:

Section:Mechanical

Question:Which type of gear has two sets of gear teeth arranged in opposite orientations
on the same gear canceling out the axial thrust forces and improving the efficiency of
both bearings and gear?

forg R & R & Tas ) iR R fAusia Reamsit # =waf®q &t O R gid g1 &, St erefia ove a1l ant
T dhed & 3R a1 SR SR TR Y 3&1dT & R ahd 872

A Herringbone gear

B Rack and pinion gear

I 3R fufaga iR

C Straight Bevel gear
T dad iR

D Worm gear

g =

Answer Given By Candidate:D
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Question ID:1223, Code:
Section:Mechanical
Question:Which type of gearbox uses gears with non-parallel and non-intersecting axes
to connect shafts?

T TR & Rl & IR-TAMIAR 3R TR-ZexfdT S1efi & 91y AT i TS+ o forg R a1 I
fohaT ST 87

A Herringbone gear

B Hypoid gear
GERIECHUEN
C Rack and pinion gear

¥ 3k fufdge iz

D Spur gear
TR iR

Answer Given By Candidate:B

Question ID:1224, Code:

Section:Mechanical

Question:In a governor, what force exerted on the rotating flyweights controls the fuel
consumption and also maintains a consistent engine speed?

TR H, G a7l FeTsae UR SRTT ST a7l Sl 9T st 34 <hl @Ud onl fAdfad ohear g ek gs1 ot nifa
& off fRR 71T T@ar g7

A The Centrifugal force
FUORS g

B The Inertia force
NECER

C The Coupling force
A &l

D The Rotational force

quid &

Answer Given By Candidate:B
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Question ID:1225, Code:
Section:Mechanical
Question:On which principle do inertia governors, also known as flywheel governors,
operate to maintain a consistent speed?

e AR, S delTseaid =R ot gl ST §, TR 71T §91¢ @4 o folt fohg Rigid ok &1 o 87

A The principal of Inertia

S8 ol g
B Conservation of energy
SHoll GRET0T

C Principle of superposition

STHRIYT T RAgid

D Newton's law of universal gravitation

<A T A TarenyuT & fAaH

Answer Given By Candidate:A

Question ID:1226, Code:

Section:Mechanical

Question:In a vibrating system which element is responsible for the storage of potential
energy?

U TOTTel} H ohlF 9T ded GHTfad Soff oh WSRT & fow fSerR 82
A Spring
&

B Mass
SHHA

C Damper
SR

D P_endulum

dgad

Answer Given By Candidate:C
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Question ID:1227, Code:
Section:Mechanical
Question:In viscous damping, to which parameter is the damping force proportionally
related?

G 3reHe H, 3fared g fhe iR @ srrgufaes ®9 4 Jefdd g2

A Amplitude of oscillation
1ot T ST

B Velocity of the body
fig a1

C Circular frequency

FATAR S

D Time period of oscillation

gl ! gHaEafy

Answer Given By Candidate:A

Question ID:1228, Code:

Section:Mechanical

Question:Which theory predicts failure or yielding based on the principle that yielding
occurs when the distortion strain energy per unit volume in a biaxial stress system
reaches a critical value?

i I1 Rigid fawetar a1 Iust &t yfasgaroft 59 fAgid & SMUR R oRdT & foh Iust a9 gidl & o1 fgamefta
d-1g goTTelt # Ufd geprs smaa= fasuor g-1a H1f g Agayul A4 ek ugd ST 872

A Saint Venant Theory
B Haigh's Theory
BT o gl

C Hencky and Von-Mises Theory
gh! 3R a9-HIS8Y fAgid

D Tresca's Theory
&%t o1 Rgia

Answer Given By Candidate:C
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Question ID:1229, Code:
Section:Mechanical
Question:Which theory states that failure or yielding occurs at a specific location within a
member when the maximum primary or normal stress in a biaxial stress system reaches
the material's limiting strength as determined in a simple tension test?

i 91 Agia aarar & fob faherar a1 Iust Uep Oewg o HfiaR Ues fafe e wR it § Sia fgeiefia ama
guTTelt # StfAerd uraffes a1 G aHTa Geh ATeRuT a1d uieror # PRafRa gt 6t P ufh a@ uga
ST 87?

A Saint Venant Theory

e de Rigia
B Haigh's Theory

C Rankine's Theory
3fer o1 Rigia

D Guest's Theory
T 1 fAgia

Answer Given By Candidate:D

Question ID:1230, Code:
Section:Mechanical
Question:What type of joint in a machine has overlapping plates with welded edges?

72fe H fohg UehR & Siie & dess fohaRT & T SfieRATT wie gidl 82

A Ateejoint
&-sitée

B Alap joint
oy Sifge

C A Dbutjoint
e Sifse

D A corner joint

Sy

Answer Given By Candidate:B
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Question ID:1231, Code:
Section:Mechanical
Question: Ny

L7///}///»////45

What type of ]omt is depicted in the image given above?

%/////}///»//////s
IR & 7S B A fhg UhR o1 S ifar mar g2

A Lap Joint
Y Sige

B Tee ]01nt
& Sige

C Pivot ]omt
fOge Sitge

D Edge Joint
ESIE

Answer Given By Candidate:B
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Question ID:1232, Code:
Section:Mechanical
Question:For a butt joint, how is the minimum weld area defined?

¢ SIS o oY, AaH des &5 ehl hd TR fohaT Sirar 87

A Product of the throat thickness and length of weld
ie TS 3R dcg hl TS AT UMK

B Division of the throat thickness by length of weld
Ue AIeTS ohl deg Y 918 T Ao g

C Addition of the throat thickness and length of weld
ote Hierd 3R A hl ialTs eht NT

D Subtraction of the throat thickness from length of weld
dcs &l a1g ¥ YT HICTE i g 9

Answer Given By Candidate:C

Question ID:1233, Code:

Section:Mechanical

Question:On which component in a braking system are the brake shoes and wheel
cylinders mounted?

sifcht faew # fohd ek R sies &1 3R cgiet RAeier &t gid 8?2

A Booster

T

B Caliper
hfeTiR

C Master Cylinder
AR =R

D Backing Plate
kT e

Answer Given By Candidate:D
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Question ID:1234, Code:
Section:Mechanical
Question:A bar under axial loading is represented by a 1D finite element model. What is
the number of nodes in the model if the bar's length is split into 3 equal elements?

31efi ST o dgd Ueh IR @l 1D uRMAT da Aisd gRT &=1T ST g1 I IR 6l das vl 3 sRIeR daal
faenfSra forar SITdT €, af Aifee | gy oht e T 8?

A

B

D

(op o)} ~ J w w [SETEN

Answer Given By Candidate:A

Question ID:1235, Code:

Section:Mechanical

Question:An isoparametric element is stretched along one axis during meshing. What is
the direct effect of the element on the Jacobian determinant?

AT & SR af U MgATRMeEe Tlere &t Uen 3187 & 91y WidT ST1aT 8, al Siehifade f$exfie
(FrufRer) W 39T ucaer uTg o1 gm?

A The Jacobian determinant value drops to -1.

Stenifaae fee=faqe o1 A= -1 J iR SITaT 8|

B The Jacobian determinant doesn't change.

Stepifaae [HeRes T8 sgadr gl

C The Jacobian determinant differs depending on the position of the element.

Stenifaae Rgike da 6 AT & smaR wR 9= gar g1

D Jacobian determinant increases proportionally.

Stenifaae fRefke siuifaes ®u 9 Sear gl

Answer Given By Candidate:Not Attempted
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Question ID:1236, Code:
Section:Mechanical
Question:What type of projection view is needed by an assembler to understand the
assembly process when the engineering diagram indicates "Assemble as per drawing
D001"?

STe SR 3MRE "grET D001 o AR ¥eel e ST &l 8, al STdeell Ufeha sl G o forg
TR o fhd TR & UETUT 32T i STaTehdl BIdT 872

A Sectional view

SN 3T

B Perspective view

uiRuied g

C Isometric view

TafAdia g

D Exploded view

TS S §T

Answer Given By Candidate:B

Question ID:1237, Code:

Section:Mechanical

Question:In an isometric drawing, at what angle should the lines be constructed from the
defined points along the vertical line?

Qoh GHMAC ZIET H, Jeafer @1 & a1y gRivg foigsit T foha sptor R 3@ 418 ST anfgg?

A 30 Degrees
30 feft

B 35 Degrees
35 feht

C 40 Degrees
40 feit

D 45 Degrees
45 feift

Answer Given By Candidate:A
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Question ID:1238, Code:
Section:Mechanical
Question:A machine part is viewed from three orthogonal perspectives-front, top, and
side. A rectangle is seen in the side view, a circle in the top view, and another rectangle in

the front view. What is the likely shape of this part?
Qeh A |1 &l i SATATMeT fRhIul O 3T STdT 8 - 914, HUR 3R fhAR &1 fhR & ga # Uah

T, FR & T H Yoh g 3R A & g | Yeh SR S71d T8 3T §1 9 W ol H1fad SRR T
g?

A Square Pyramid
CURENIEES

B Cone
1%

C Cylinder
CECH

D Cube
uq

Answer Given By Candidate:C

Question ID:1239, Code:

Section:Mechanical

Question:Why does one-dimensional FEA employ the weak version of the governing
differential equation?

Uch-3TTHY FEA Tafa 3R Hienrur & STk HEhevl ohl ol (oI ahedT 87

A To guarantee the positive definiteness of the stiffness matrix.

FHSRAT A Y GepRTcHe FATYadT 6t mRé & fag

B To formulate the finite element method

R ac fafer daR & o faig

C To guarantee the neutral definiteness of the stiffness matrix

PSR AT i dey MfYadr i TREr & forg

D To ensure that the governing equation will have precise solutions.

gg gRfYd A o forg o mafn aeifezor a1 9éie Tamem™ ghm

Answer Given By Candidate:B
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Question ID:1240, Code:
Section:Mechanical
Question:What strategies are essential for maintaining effective industrial relations to
promote workplace harmony?

FRIRIA TR IS i TG1AT ¢ oh folg g Siieifiies 9e4 §91¢ Raq & forg i Y orifaar smasas
g8?

A Enforcing strict rules while avoiding employee communication entirely.

HHARI HUR ehl G a8 Y el §Y T A AN Tl

B Establishing mutual trust and fostering transparent communication processes.

MUY Ay @fud e SR uReRft TarR ufsharsti et derar AT

C Reducing wages and benefits to achieve financial stability.

fo<itT FRRaT Ut ozt & forw a9 SR 19 | T

D Restricting employee rights by imposing stringent workplace guidelines.

PIRIIA TR SR EAMAET AN FXch HHART SHfRRT ht TFAT e

Answer Given By Candidate:B

Question ID:1241, Code:

Section:Mechanical

Question:Which factor is most critical in resolving disputes within industrial relations
frameworks?

3eifies Gy gid & HiaR faarel el ge A # i I1 Rk Jad Hgayuf 8?

A Imposing strict policies to limit conflicts.

T st G o o fog g =fifaai g e

B Encouraging dialogue and negotiation between stakeholders.

f@demRenl & dta Gare ik ard=id &t Tcardd &l

C Increasing management authority over employees.

HHATRGT IR U SfIBR TeMTI

D Reducing employee rights and responsibilities.

AT SRR 3R SmeIiRal &l | sl

Answer Given By Candidate:B
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Question ID:1242, Code:
Section:Mechanical
Question:Which plant layout is most appropriate for industries requiring consistent
workflows and minimal handling of materials across workstations?

I T e AIMMIE I I & folg Tardt Iugh 8, f8 acheeer =t # IR gehtett SR amfdat &t =gad
SSToT ehl STTaThdT Bidit 82

A Process Layout groups similar operations to enhance flexibility.
UfehdT ASATIC TeIU ohl TG oh folg THA HaTel ohl THgIhd hdl 8l

B Fixed Position Layout accommodates large products that remain stationary.

fAfga AT emse AR @A aret 98 Il ot HEISId &dar gl

C Product Layout organizes machines in sequence for smooth production flow.

IATE AT AR ITE TaTg o forg #fi=t ot ohi # Sgafedd st 81

D Combination Layout integrates multlple layout types for diverse needs.

Gter A3m3e fafdy smasaerdarsit & folg g A3 UdhRT ol Tehichd hedT g

Answer Given By Candidate:C

Question ID:1243, Code:

Section:Mechanical

Question:What is the primary goal of effective material handling in a manufacturing
facility?

fafamfor gfaer & gurd armlt geem o1 urafie dea w82

A Extending product manufacturing time.
e fafor I9g &t gerT)

B Increasing inventory levels.

gdcl TRl ol TGTTI

C Minimizing costs and improving operational efficiency.
AT Sl ShH AT IR URTTA S&TdT H GYUR AT

D Maximizing the number of manual tasks.

g3 hrdT I TAT Sl S Ahad Tl

Answer Given By Candidate:C
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Question ID:1244, Code:
Section:Mechanical
Question:In manufacturing, which approach focuses on identifying defects after
production while ensuring standard adherence at the assembly level?

fafawtor #, = a1 gfeeior el TR R A UTe GRTYd ed gY ITed o 16 Nl Sl Ugam et
UR ST chisd &l §7?

A Total Quality Management focuses entirely on production-level defect identification.
el UTeT Uee T3 aRg & SUTeA-ER &Y Ugd R hied gl

B Quality Assurance uses preventive measures to stop defects before production begins.

TUTET STYTE IATE [ 814 U Ugel a&lsl ehl Aehnt o flg faRes IuTal <1 IUTNT AT 2|

C Quality Control verifies product quality during the final inspection stage.

Torer fAaEor sifaw Rderor =Ror & SR IS Y UTET i g AT gl

D Lean Manufacturing emphasizes defect tracking during all production phases.

ot fafamtor @ft Saare wRoT & SR gty fhm R SR <aT 8|

Answer Given By Candidate:A

Question ID:1245, Code:

Section:Mechanical

Question:Which quality control technique also known as cause-and-effect diagram is
most effective for analyzing the factors contributing to defects in a process?

i+ i ureT FAEE0T dahmion, ST ARUT-SIR-UHTE $TRE & w0 & ot 51 71 €, foneht ufchar & ait o
TG he dTet ThiReh! ol [ASATUT T o ol G gTelt g7

A Scatter diagram

TheR 3RE

B Ishikawa diagram

gferrar emE

C Control chart
IERPIECITS

D Pareto chart
e I

Answer Given By Candidate:A
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Question ID:1246, Code:
Section:Mechanical
Question:Which inventory management technique focuses on minimizing waste by
receiving materials only as needed in production?

1 ©l 3¢ UYH deh-lch IUTe H hael STIFehdl R ATHH UTT hch STUTAT &l A e R &1
chiord el 87

A Just-In-Time (JIT)
Se-g4-e13H (JIT)

B Economic Order Quantity (EOQ)
SIS e Faifed (E0Q)

C Vendor Managed Inventory (VMI)
farchaT weifda st (VM)

D Material Requirements Planning (MRP)
g} STa=gehdT atsiHT (MRP)

Answer Given By Candidate:A

Question ID:1247, Code:

Section:Mechanical

Question:In materials management, which analysis technique categorizes inventory
based on annual consumption value to prioritize management efforts?

g} UsieE H, U= UarEt st Urdfehdr &4 & forg afties IuMhT Jou & TR WR 3=¢T <l ehi &
fastwor qep-ten aficpd el 82

A VED Analysis
VED farsateor

B ABC Analysis
ABC fasciyor

C FSN Analysis
FSN fasatsor

D HML Analysis
HML fasdwor

Answer Given By Candidate:B
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Question ID:1248, Code:
Section:Mechanical
Question:A satellite in space absorbs heat from the Sun and releases it into the
surrounding vacuum. Which heat transfer mode is responsible for this process?

SiaRker # Uk IuUg G F SSAT ht SNy a8 3R 38 Uy & Fafd & stedr g1 59 ufshar & fag
I T FT TR At R 82

A Radiation mode

fafenzor die

B Conduction mode
EIGGEE]

C Convection mode
Gag- Al

D Insulation mode

I A8

Answer Given By Candidate:A

Question ID:1249, Code:

Section:Mechanical

Question:While analysing heat transfer in a fluid, which non-dimensional number
should be determined to calculate the ratio of convective to conductive heat transfer?
&d H AT RIFIAR0T T [T e THY, Hag- T ATer HSHT TITHIdRUT o IIUTd I TUMT e & forg

fohg Mg T¥et ot [erior fopar ST @nfgy?

A Reynolds number

Hiegd =t

B Brandtl number

e &1

C Grashof number
TR TAT

D Nusselt number
T g

Answer Given By Candidate:C
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Question ID:1250, Code:
Section:Mechanical
Question:A grey body has an emissivity coefficient "£" and radiates heat according to the
Stefan-Boltzmann Law. What does the value of £ represent?

Teh o TSt & ScHeiel U "e" §aT &
3R 7% FHe-dlecadd fordH &
HFTR FCAT &1 FaferIor FTar &

€ ST HTeT T ST &7

A The thermal conductivity

SCHI TATelchdl

B The fraction of absorbed, reflected, or transmitted radiation

Hafa, wrafaq, @ g=ifa
farferyor @1 3regura

C The surface temperature
HdE &l dTUATA

D The total heat radiated

Dol TR 10T ST
Answer Given By Candidate:B

Question ID:1251, Code:

Section:Mechanical

Question:What property distinguishes thermal radiation from other types of
electromagnetic radiation?

oh1= &1 70T e fafehror st 3= UehR o faeld graehta fafehror & srerT ahxar 872

A Polarization characteristics

UCICURCRIEEIIY

B Speed of propagation
TR <hl i

C Magnetizing properties

eI o1

D Temperature dependence
araaT fAefzar

Answer Given By Candidate:D
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Question ID:1252, Code:
Section:Mechanical
Question:Which one of the following is an example of convective heat transfer?
= & T o9 91 Gaga ™A1 RAHIdRT &l Ueh 31807 87

A Heating a metal rod

1q I BE ohl TH AT

B Sunlight Warming the Earth
Y & YR T gt ot TH g

C Boiling water
Tt ahT ST

D Heat dissipated by a transformer
CTAthTHR GIRT ST &l U

Answer Given By Candidate:C

Question ID:1253, Code:

Section:Mechanical

Question:When a flow has a large Reynolds number (a dimensionless parameter
representing flow), what does it indicate about the flow regime?

STel fonddt TraTg | 98t Fiegd T (UaTg ot TR s arett Teh samsi- IRTHIeR ) gidt 8, af a8
TATE SIET & IR | T Hohd &l 87

A The fluid is in a transitional phase

& TchHUThT I ST H &

B The fluid flow is laminar

&g Udig dfiR 8

C The flow is in a stable

yars fRR g

D The fluid flow is highly turbulent
&d UaTg ATk JeAd 8

Answer Given By Candidate:D
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Question ID:1254, Code:
Section:Mechanical
Question:An object positioned at (X, Y) is scaled using scaling factors (SX, SY). The new
coordinates of the object become (X', Y') after scaling. How is the object's size altered in
the scaling process?

(X, Y) R fRxq forelt a¥xg ot whfclt Rel (SX, SY) T STUINT ehich Thel fohal SITdT & | WhfeliT o a1 %] &
g fAderiar (X, Y') 9 ST1d € | Thfelt ufehar & a¥g &1 SMTehR e I&T STTaT 87?

A By adding the coordlnates to the scaling factors
fA&erichl ot ThichT RepT § g

B By multiplying the coordinates by the scaling factors
fA&TieRT oAl ThfehT SRep! & T[OTT FHech

C By computing modulus of the coordinates with the scaling factors

fAarient 3R ThichT chRenl & HTUTeh chY TUTT ehich

D By calculating the power of coordinates using the scaling factors

ThieHT ShRehl ahT IUTNT ehech fAELrien! Y TTd TTUMHT Shich

Answer Given By Candidate:C

Question ID:1255, Code:

Section:Mechanical

Question:In a cantilever beam subjected to a uniform load, the Bending Moment Diagram
(BMD) shows a linear variation of bending moment. What does the shape of the BMD
indicate about the distribution of bending moments along the length of the beam?

Teh A R & 3¢9 Ueh dhifeelter offw H, s Aide grum (BMD) s Aide (dA smgui) & e
fo=aT et gaifar 81 st &l wfars & Try df AiHc (S 3mgo) & fAavor & aR § BMD 1 3R T
a=Iiar 8?

A The bending moment is minimum at the fixed end and zero at the free end.

dfém Aie (s ameol) fRR AR R AaH Sk J<h IR R g gl 8|

B The bending moment is maximum at the fixed end and zero at the free end.

ST Aife FRR R WR SifdehdH 3R H<h R TR = giaT 8|

C The bending moment is maximum at the fixed end and one at the free end.

dfé AiHe fRR R R srfderan ok gk R R Uk gl 81

D The bending moment is minimum at the fixed end and one at the free end.

dfe AiHe R R R =g ok g R W gas glar 81

Answer Given By Candidate:A
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Question ID:1256, Code:
Section:Mechanical
Question:What type of production planning involves setting output levels, scheduling
production, and coordinating resources across departments?

fohd TR Y IcuTe aierT # aim3eye TR RufRd &, Iaare o awa RaRor aAr ok e | dare=t
T TG AT AT 872

A Master Production Planning
&R I IISTT

B Aggregate Production Planning
THY 3dTeA

C Materials Requirement Planning

T} SRR dT TISTT

D Capacity Planning
ST AT

Answer Given By Candidate:B

Question ID:1257, Code:

Section:Mechanical

Question:Which type of jig is used for drilling radial holes on cylindrical or spherical
workpieces?

ST R T MATehR Jehdld UR A sad 8¢ f3feit & fory fohe UeR o it ot suah forar Smar 82

A Diameter jig
g o

B Ring jig
1 foim

C Leafjig
ot foT

D Plate jig
e o

Answer Given By Candidate:B
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Question ID:1258, Code:
Section:Mechanical
Question:What is the primary objective that a project manager wants by using the PERT
(Program Evaluation and Review Technique) to ensure the project is completed on
schedule?

PERT (W4 334U U Reg eerfieh) oht IualtT e R Ig gRfHa s & forg for aRaten fAyiia
T IR G g1 fordlt ulkatsm usieres ot terfies e=a T gl 8?2

A Focuses on time estimation and scheduling

TG & AT 3R THg-gRoft W e dHgd wer

B Focuses on time-cost trade off
GHI-ANT Tl UR &1 hisd heAT

C Focuses on time optimization

TG 3Gl TR ST chiod e

D Focuses on time for parallel activities
gaFTaR Tfafafet & e gug R e dhfed e
Answer Given By Candidate:A

Question ID:1259, Code:
Section:Mechanical
Question:In boundary representation (B-rep), how is a solid model represented?

e ufafAfda (B-rep) #, Ter 319 Alset &l fAeqor &t fohat Sirdr 8?2

A Using the Boolean combination of primitive volumes

UTfAeh dlegA oh Feitd VST hl JUYNT hich

B Using the design process for basic shapes

Hel MTepfaat & fESTeT ufohar et SuaiT eech

C Using an n-dimensional space separated by its boundaries

gch 13Tl gRT 37T fohU T n-SATHY VI AT IUANT hich

D Using the faces, edges, and vertices

A, ThART 3R I T ITTNT AT

Answer Given By Candidate:D
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Question ID:1260, Code:
Section:Mechanical
Question:At what material property point does a solid material undergo transformation
into a liquid state?

ferg Tt 7o foig UR Qe o9 uerd ga sret # uRafdd giar 8?

A Density
Y9

B Melting point
UCEICT

C Dimensions
3™

D Porosity
GRErdT

Answer Given By Candidate:B

Question ID:1261, Code:

Section:Mechanical

Question:In which type of heat treatment process, metal is heated to a temperature
below its critical point followed by cooling it at a controlled rate to reduce brittleness and
maintain hardness?

fohe TR Y SSAT IUTR UfehaT H, €T el I8ch shifdes foig § i< o qrow wR 7 fohar Sirar @ ok fhe
HTRAT i hH e 3R HSRAT i FATY TWA o forg iR &R or 327 fohar Sirar 87

A Surface hardening

WY gIEMAT

B Normalising

AT

C Annealing

et

D Tempering
i

Answer Given By Candidate:C
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Question ID:1262, Code:
Section:Mechanical
Question:In the Iron-Carbon diagram, what is the name of the eutectoid mixture formed
when austenite decomposes during the cooling process?

qilg - ehteieT TR H, Mder= ufehar & ERM sifeATse & faafed gR o 974 aret geaeiss Aot a1 Am o
&?

A Pearlite
Udige

B Cementite

derEe

C Ferrite

hRIgC

D Stainless Steel
g W

Answer Given By Candidate:A

Question ID:1263, Code:

Section:Mechanical

Question:In interferometry, which phenomenon is primarily used to measure very small
linear displacements with high precision?

SRGRIAET H, fohd TfereT a1 ITANT 0 ®U § Io URLYGdT o d1Y §gd BId Weh fawama &t A1+ &
forq fomar StTar 82

A Diffraction
fred=

B Polarization

g[teRvoT

C Interference

Hfdenor

D Refraction

3

Answer Given By Candidate:C
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Question ID:1264, Code:
Section:Mechanical
Question:Brass is an alloy of

draet CAREE RG]

A Copper and Zinc
i R S

B Zinc and Tin

ST ok fea

C Nickel and Copper
GIEL

D Tin and Iron

fe=T iR <iigr

Answer Given By Candidate:A

Question ID:1265, Code:

Section:Mechanical

Question:Which NDT technique plays a crucial role in detecting hidden defects in aircraft
engines and structures by using high-frequency sound waves?

i W NDT deheiich I=a ITgT eafy at ot IUTNT hech fad g9+ SR TRamaT F 30 v o1 gar
T F Agayqut qftent e 82

A Eddy current testing
TS} ohie THeToT

B Magnetic Particle Testing

YEhII hUT TRT&T0T

C Ultrasonic Testing

SR UIeToT

D Aviation Testing

T uteor

Answer Given By Candidate:A
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Question ID:1266, Code:
Section:Mechanical
Question:In a Linear Programming Problem (LPP), what is the primary role of the linear
objective function in achieving optimization goals?

Qe W&en Ui aw=m (LPP) #, el @18dl &l UTW e H ek I thaH bl Tmufies sfient am
8?

A The linear objective function is to be maximized (or minimized) for optimization.

3qe & forg A&en I ther ol HfAerdH (A1 =grAaH) foar Sirar 1

B The linear objective function determines the feasible region of the solution.

IRGeh I TharF THTYT & Fagld & ot AeiRd hedar gl

C The linear objective function is needed to figure out the decision variables.

Aot =R o1 uar TR & g IRGep I2T thar Y 3magendr gidl 81

D The linear objective function is used to create constraints for the problem.

Ah I8 Thar[M T IUTNT IHWT o folT e s o forg fohar STrar 81

Answer Given By Candidate:B

Question ID:1267, Code:

Section:Mechanical

Question:Which type of pattern contains removable sections or pieces that are inserted
into the main pattern to create complex features in the casting and can be removed from
the mold after pattern withdrawal?

foher TR o e+t | e A ST A1 ¢ohs Bl & O e & Sifeet faRtward =M & forg g det &
ST STl 8 R G arudt & a7e Hies § g/ ST ehdT 672

A Loose Piece pattern

ISt o ded

B Gated Pattern
Teg e

C Cope and Drag Pattern
AT 3R 277 e

D Shell Pattern
et G

Answer Given By Candidate:C


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

#= GEI 11 ON
A Google Play

Addaik2y7

Question ID:1268, Code:
Section:Mechanical
Question:What type of shrinkage occurs when a liquid alloy contracts as it cools but
remains in its liquid state before solidification begins?

STd Qoh Rl fAe a1 381 811 R Rigpred! 8, Aifch SIenor & g1 § Uget 31U+t dRel e # &+ &l &,
dt fopg UhR ahT Gehtad BidT 8?

A Liquid Shrinkage
&g Gt

B Solid Shrinkage
3N Hepta

C Solidification Shrinkage
SItenT Heptad

D Pattern Shrinkage
O Hertad

Answer Given By Candidate:C

Question ID:1269, Code:

Section:Mechanical

Question:Which type of cast iron is formed when carbon in the molten cast iron becomes
iron carbide, with carbon and silicon contents kept relatively low?

Siq fUeret §U e <lig H hiei R hIdigs & SITaT 8, fS19H ahre 3R f&ferenid <l AT srdemehd oA
gt 8, dt fhd TR ohT ShIRe S1TARA (e eilg) ST 872

A Malleable cast iron

Afedae e 3maRA

B Grey cast iron
Y R STARA

C White cast iron
8IS chIte 3TORH

D Nodular cast iron
ATSYeTR I ATURA

Answer Given By Candidate:D
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Question ID:1270, Code:
Section:Mechanical
Question:What cold working technique is best suited for bending a long strip of iron
metal into a roll shape?

<ie ehl YTq ehl Teh cisll UET ehl el oh 3TehR H Hig o faig i &t ofid & deriien Tt Iugh 872

A Squeezing
TS

B Bending
sfém

C Shearing
R

D Drawing
S

Answer Given By Candidate:D

Question ID:1271, Code:

Section:Mechanical

Question:In the milling method, which mechanical force can be applied to two material
particles to create a rubbing action that turns them into powder?

fafer fafer |, <t gl ol R fohg Tt s @l v maT ST Gendr & [Sad 3 gt fohar aweh uker J Ied
ST 8?2

A Impact
STTd

B Shear
chd¥-d

C Attrition
Kisiangu)

D Compression

gdisq

Answer Given By Candidate:B
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Question ID:1272, Code:
Section:Mechanical
Question:In the deep drawing process for producing a cylindrical shape from sheet
metal, which parameter plays a crucial role in bending and unbending forces on the
material, thereby creating restrictive forces during the shaping process?

e YT & JAATRR SRR S <hl ST ST UfehaT H, i A1 WRTHR Il IR AtgA 3R 7-Ae- aret el
¥ Agaqut YfAehT ATdT 8, foad smerR & &t ufehar & SR ufdsies a1 3= gid 8?2

A Draw bead height and shape
g &I Sa18 R 3MMepfa ITG

B Draw radii

g s91g

C Press speed (ram speed)

o i (7 i)

D Material thickness
It &Y Aiers

Answer Given By Candidate:C

Question ID:1273, Code:

Section:Mechanical

Question:During the brazing process of a gas pipe, where heat is applied to melt filler
metals, which one of the following is used to prevent the base metal of the pipe joint from
melting?

ol fUge & Aept o forg =faifad & & forgent IuahT fohar Sirdr 8?2

A Flux
Ui

B Welding
dfed

C Assembly
Sr&aed!

D Furnace

2

Answer Given By Candidate:B
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Question ID:1274, Code:
Section:Mechanical
Question:In the context of Linear Programming, under what condition is a Basic Feasible
Solution (BFS) referred to as degenerate?

e vfE & deof 4, foredt dfter thifSiaer Giege™ (BES) ot ohel SISTHRC hgl SITdT 8?2

A When the values of all basic variables are zero and negative

Tt g =Y o A L SR KO g

B When the values of all basic variables are non-zero and positive

e gt gt =R & A YRR SR TS g

C When the value of at least one basic variable is zero
STdl ¥ § A e el =R <hl HH L 8t

D When the value of at least one basic variable is non-zero
STq ¥ § A Yeh JeT =R 1 A YR 8l

Answer Given By Candidate:A

Question ID:1275, Code:

Section:Mechanical

Question:Which project scenario most appropriately aligns with the principles of CPM,
considering the certainty of time estimates and task dependencies?

IHY AT 3R i FAeizarsit i Rfgadr = foeR d gg, @i a1 uRaisn uRgea CPM & Rigial &
1Y Ged Iugeh U ¥ WA giar 8?2

A Developing a new product with frequent changes in requirements
SMAGRTST H AR GREd! o 9T Teh AT ITG [deh&d AT

B Designing a prototype with clear task dependencies

¥ &g FRarst & a1y U Uietersy fEeig ear

C Campaigning for an unpredictable market
Ad IR o forg ifar= T

D Research project with unknown outcomes

7T GRUITHT aTelt Teh SEUT TRATSTHT

Answer Given By Candidate:B
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Question ID:1276, Code:
Section:Mechanical
Question:Which kind of activity in project management PERT(Program Evaluation and
Review Technique) can be used to determine and uphold the appropriate precedence
relationship between tasks that are not related by events?

RIS UsieH # fohd UehR Y ifafafd PERT (ehrdsh® Hedich 3R GHIET dehriteh) ST IUTNT 39 T oh
Jr IfRa gdar dey Fyiia s ofk 9919 @+ o forg foRam ST HepdT g St aerst & Geifdd 6! 62

A Concurrent activity

gued Tfafafdr

B Predecessor activity

LCECIRIBICIE]

C Dummy activity

ELIRIICIEID

D Successor activity

IR fafafer

Answer Given By Candidate:C

Question ID:1277, Code:

Section:Mechanical

Question:Which one of the following is a characteristic feature of the cold working
process?

%1 & @ i Tt Gen ehies afh ufehar i fasisar 82

A Working temperature is more and hence refined metal grain structure is obtained.

i ITaH S1fdes gidar €, foad uRsehd a1 TSt ST U gl 81

B Impact value are increased.

gifaeh 70T Y Fg1d R YHTd A §¢ S & |

C Hardening of final products is completely eliminated due to recovery and
recrystalhzatlon

SifaH IATCT T AR BIHT G aRg THIW g STTdT 8, Rilfeh [Rehas] 3R GH: Thidehlehzul gidl 8|

D The final products have a smoother surface and better strength and hardness.

3 ISl &l gdg Rt gidt & 3R I9h! dTehd T ShaRdT 31fdeh gidl |

Answer Given By Candidate:D
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Question ID:1278, Code:
Section:Mechanical
Question:In terms of inventory control, how does effective inventory management
contribute to operational efficiency and financial stability?

g=ai¢l AT & e #, uwrelt idt ueye ufarer qarar SiR ot fRar | &9 ahre &ar 8?

A By balancing stock levels to prevent overstocking or stock-outs.

Wich TR ! Adferd cch, difch 31fdeh Wik IT Wich-3M1IC & T SIT Hh |

B By identifying and recording all products in the inventory for better visibility.

gt Iaurel &t ugar 3R Repifdn onxch, [Td 398 i gaar 9|

C By categorizing inventory items to reduce overall handling costs.

g-A¢l a3l ol Aouflerg ohech, forad gau el T A &l

D By ensuring products are maintained in optimal condition during storage.

gg G ek foh WSRO & R IATG 3EAH (AT & B

Answer Given By Candidate:C

Question ID:1279, Code:

Section:Mechanical

Question:In inventory management, which supply chain factor is essential for
determining safety stock levels by accounting for variations in lead times and delivery
reliability?

gAY Usie H, QRE Widh TR ufRd e o forg smgfd sjet &1 i+ a1 ShRes Agaquf gidT 8, St ot
argA H fafdearait oik feefta’t &t fasyaiaar &t eaH § waar g?

A Supply chain continuity, ensuring an uninterrupted flow of goods.

STgfe gfRaet i FAard, St Are <t Aty srgfd gty ot 81

B Supply chain reliability, addressing lead time consistency and delivery accuracy.

JTgf< et <hl fasga-tad, it «fig ez FRARAT 3R fefta’t ht Tdtehar st datfard st 8

C Supply chain responsiveness, focusing on the speed of adapting to demand changes.

3mgfcd e <t ufdfehansitcrar, it @i aRadHT & folg Srcher i IR &7+ g et

D Supply chain prediction, analyzing future trends to estlmate stock needs.

SMYfd Sjet ht wifasaroft, St wifasy &t ugiaat ot fasawor ek Wik STATRATSAT ST SHT AT
gl

Answer Given By Candidate:D
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Question ID:1280, Code:
Section:Mechanical
Question:In laminar flow through a pipe, the velocity distribution is typically parabolic.
Which two factors are primarily responsible for shaping this velocity profile and
determining the flow characteristics?

1Sy & A1eaH T AR garg #, 7 fAaRur SmHdiR tR URaeiRieh T 1 39 T WIS ahl S1TehR & 3R
vaTg fatvarstt &t Fafika &= & ol 77 0 @ &9 9 3 Re isieR 82

A Fluid density and pipe length
&d g 3R UT3y i iag

B Fluid temperature and pipe roughness

&g dTOHT 3R UT8Y WRETu+

C Pipe diameter and fluid viscosity
UTSY eh1 T 3R &d chl AT

D Reynolds number and flow rate
Fiegd =T 3R yaig &

Answer Given By Candidate:C

Question ID:1281, Code:

Section:Mechanical

Question:What property of a fluid enables it to rise in a capillary tube, considering the
effects of intermolecular forces and interactions?

SfaR-3TuTfdeh sl 3fR 3fa:feharstl & uvTal iR faaR &d g4, &a 1 < I1 0T 38 Akl S H FUR IsA
H & ST 87

A Cohesion between fluid molecules and density.

&a SISt SR T & S TS|

B Adhesion between the fluid and the tube surface.
R 3R & qdg & o= eS|

C Viscosity of the fluid and pressure difference.
Rl I AT 3R &Tel R |

D Compressibility and surface tension of the fluid.

IR <ht FUhtggdTr 3R g8 q=rd |

Answer Given By Candidate:C
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Question ID:1282, Code:
Section:Mechanical

Question:A U-tube manometer uses water (density 1000 kg/m?) and oil (density 800
kg/m?3).If the height difference between the two columns is 0.2m, calculate the pressure
difference between the two ends of the manometer.

T U-cge B-tefex & arit (e 1000 kg/m3) 3R e (a1 800 kg/m3) a1 Suzi fahar strar &1 afe &)
ot & &g Ha18 T siak 0.2m 8, df A9HeR & i1 fORY & g g9 iR Y TorHT e

A 200.8Pa
200.8Pa

B 400.6Pa
400.6Pa

C 392.4Pa
392.4Pa

D 160.2Pa
160.2Pa

Answer Given By Candidate:Not Attempted

Question ID:1283, Code:

Section:Mechanical

Question:Which type of manometer, with one limb slightly tilted, is best suited for
measuring small pressure differences with high accuracy?

1< 91 A-HICR, fSTHeh! Yeh o1 ATt ehl B8 Bl 6, BIC JaTd 3HRI el I FEIhdT & 1Y AU o foIg
qad IUYh i 87

A U-Tube Manometer
U-&F aHeR

B Inclined Tube Manometer

Z[hT §3HT &Id HHIHIR

C Diffgrential U-Tube Manometer

R U-egsl Afie

D Inverted U-Tube Manometer

TR U-ae Bree

Answer Given By Candidate:C
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Question ID:1284, Code:
Section:Mechanical

Question:Why does the velocity of fluid within the boundary layer start from zero at the

surface and gradually increase to the free-stream velocity?

AT IR & HiaR d=e T T Tag WL T Y gl 4R-4R H<h Uarg T deh Rl agdT 8?2

A Due to the effect of turbulence near the surface.
Tdg & gy 1A h UM S hIROT|

B Because of the no-slip condition imposed by the surface.
gdg gIRT T 7Y i-fe1g <1< oh hRoT|

C As aresult of the high-pressure gradient near the surface.
Hdg & U 3= a1 YIUTdT & TRUTHAEEY |

D Due to the constant acceleration caused by surface friction.

Tdg TYUT & hRUT fRR @ROT & HRUT|

Answer Given By Candidate:D

Question ID:1285, Code:
Section:Mechanical

Question:How is the unit N/m2 written in dimension form?

g1 N/m? &t 3 =0 8 &9 forar Sirar 82

A ML1T?
ML1T2]

B [ML2T?
[M L2 T2

C ML1TY
IML1TY

D [MLT?
[M L T2]

Answer Given By Candidate:B
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Question ID:1286, Code:
Section:Mechanical
Question:What role does the air vessel play in a reciprocating pump concerning energy
conservation and fluid flow?

Holf TREUT 3R ga UaTg & dae d Yeh TAWTHI Uy # arg arfgent &R ffeat Rt 82

A It decreases the pump's stroke length for higher efficiency.
g I &A1 & T UU ol Wik oiaTs ohl v ohedT g

B It allows air to mix with the fluid for enhanced lubrication.

g SR Eed & oIy ga & a1y ga1 &t A &l srgafa &ar g

C To obtain fluid at uniform discharge rate.

Qeh AT [Adgd &R R &a U & & gl

D Itincreases pressure to maintain flow in high-altitude applications.

gg I=d HdTs dTet AN H UaTg 1Y 3@+ o folq gara aIgrar gl

Answer Given By Candidate:C

Question ID:1287, Code:

Section:Mechanical

Question:A traffic light is hanging from a horizontal pole that is supported by two cables
attached to a vertical pole. The weight of the traffic light and the pole act downward.
Given that the system is in equilibrium (the traffic light and the pole remain stationary),
which forces should be included in the Free Body Diagram?

T ¢ftheh TS Tan @fsT Ui & deahl g5 & O Tan Seaier Uit & &t &t dhaell gRT 98K e T g
¢ftheh <TTgC 3R Ul el VR i<t &Y R I hdl &1 T8 <&d g foh FReH Hger | g (¢ftheh +1se 3R Uiel
fRR & §), Tt 91! SIU™ | bl & et A fohg ST+ a1fey?

A Only Tension force
halel I-Td

B Gravitational force and Tension force

TATRYUT e 3R d1d &

C Only Gravitational force
halel TRy T &el

D Gravitational force, Normal force and Tension force

TRAThYUT Sel, AT §e1 3R J19 I

Answer Given By Candidate:B
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Question ID:1288, Code:
Section:Mechanical
Question:A box is dragged across loosely packed snow with a force applied to the right,
causing the box to accelerate in that direction. Considering that air resistance is
negligible, which forces should be included in the Free Body Diagram?

Uch S ahl Giel §th TR G837 FTT 7T I oh 1Y Qi1 SidT g, [Siod afag 39 fexm & nfd axar g1 78
&gd gy fo arg ufekty 7709 8, tht a1l sem | @i @ o i forg S =nfgg?

4 T Fnﬂrm

Ffrict .

Fgr::wr

-~
>
Fnﬂrm

Ffrict o

| Fray

grav

— —
-
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Ffrict 4—[ Fapp

<+ 'grav

Answer Given By Candidate:D

Question ID:1289, Code:

Section:Mechanical

Question:In a truss structure, if two non-collinear members meet at an unloaded joint,
what can be said about these members?

Teh ¢ T3Tel &, Tfe a1 IR-TIE T Heeg
T HeTares 1B W e €, 9t & gerat
& a1¥ & FIT HEl AT Tehal &7

A One member carries the entire load.
Teh HEET [T AR I8<7 T &l

B Oneis zero force member and the other is non zero force member.

T FY I HEEd BT & A gEa
RS g HETT BT &

C Both are zero force members.

g AET I TEFT T &

D Both are non zero force members.

gt IR e g TeEd ¥

Answer Given By Candidate:B
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Question ID:1290, Code:
Section:Mechanical
Question:What type of truss is depicted in the figure given below?

I feu g 7 A o U &1 o9 gurfar mar g7

A Pratt Truss
degg

B Howe Truss

g gd

C Warren Truss

aR_a eg

D Fink Truss
fthes o

Answer Given By Candidate:C

Question ID:1291, Code:

Section:Mechanical

Question:A manufacturing company wants to optimise production tasks and resource
allocation by automating the creation of detailed process workflows from design
specifications. Which system should they adopt to achieve this?

G fafAmior ot fesmen fafAdert @ fawgd ufehan achtrtt ot Tranferd =0 @ S99 & ATegH & IdTe it

3R GHTY 3T ohl AJhield ehe-T I8! 8| 3 187 i UTd e & folg =5 ferd ToTeft ent sro=mT
qIfey?

A Supply Chain Management system
MY ST Heie= YoTTett

B Computer-Aided Process Planning system

hYR-HEd! UTe Ufehar fAatst worre!

C Computer-Aided Engineering system
hYR-Ygradl UT §

D Enterprise Resource Planning system
JeRuTSSl ITyH fAatsH

Answer Given By Candidate:B


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

#= GEI 11 ON
A Google Play

Addaik2y7

Question ID:1292, Code:
Section:Mechanical
Question:In which type of motion, all the particles within the body move along parallel
paths and have the same velocity and direction throughout the motion?

forg R &Y 1fa |, R & oftdR It oot TR vl WR I € 3R T & SR gHE A ofik feem @
&?

A Translational motion

QTR Tfd

B Rotation along a fixed axis

Qep AT 3187 < a1 guia

C General Plane motion
T JHAA T

D Motion about a fixed point
v Rifga g 3 Ot ok i

Answer Given By Candidate:D

Question ID:1293, Code:

Section:Mechanical

Question:A metal rod is stretched, causing its length to increase from the original length
L by AL.How is longitudinal strain determined when it is positive, indicating an increase
in length?

o1 Rt errg B o3 Y e I ofaTs Oet oieTE L& AL de a1 & St 2, ot srged Righy a4
faifa forar ST & S I8 9T gidl &, ST eiaTs H gieg ol &RTid! 87?

A AL/L
AL/L

B L/ AL
L/ AL

C AL+L
AL+ L

D AL*L
AL*L

Answer Given By Candidate:A
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Question ID:1294, Code:
Section:Mechanical
Question:How can Mohr's circle be represented for analyzing the stress state at a point
on a steel plate subjected to tensile stress in the horizontal direction and shear stress in
the vertical direction?

ferel sTuTa tole W &fa= feenm & degan

daa AR Fearr fgen # ofrex aama g

e I, 38 fdg w aara & feufa @ fasro

I 3 o HATET g T HY ST ST FehaT &2

A The relationship between tension and shear stress at different planes in the element.
ded # fafdea g« @3 aame 3R
HOwuoT ufdde & 9 Hae|

B The relationship between normal and compression stress at different planes in the
element.

dca # ¥ g ot gaeg 3T
Hiisa ufaead & T ga|

C The relationship between normal and shear stress at different planes in the element.

dea # Rf¥ea aot ur gaET 3R
HUFGUT gidee & &= Hae|

D The relationship between compression and shear stress at different planes in the
element.

dca # fafdes g« uT gdiEa 3
HuwguT ufdeae & &= gay|

Answer Given By Candidate:A
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Question ID:1295, Code:
Section:Mechanical
Question:In a sagging bending moment, what happens when external loads cause the
beam to bend into a concave shape?

Teh Sch STTECT H, T BT & 519 STg<t R &1 i Sfadel 3MThR H HIg 3T 82

A Bottom fibers of the beam are stretched while the top fibers are compressed.

i1 3 Freret dq R oA & oraifes < dg Tgpfad 8 o1 2

B Bottom fibers of the beam are compressed while the top fibers are stretched.

7 & et dg dpfad gt Sird € STafes <fi o Ré= sira €1

C Both bottom and top fibers of the beam are compressed.

fir & et ofk Jud 3T dg dpfRa g &

D Both bottom and top fibers of the beam are stretched.
it 3 Praret ok FUR <t g R o &

Answer Given By Candidate:B

Question ID:1296, Code:

Section:Mechanical

Question:A structural engineer calculates the bending moment for a beam that is
subjected to a concentrated force of 100 N at a distance 0.2 meter from the support. What
will be the bending moment for the given beam?

Qeh GXATH Sol-OR Qeh of1H oh oIy siehT ST &hl TT0THT ol & S IHeA 9 0.2 Hiex h g 'k 100 N
& higd Ia1 & orefie &1 ey 7Tg fiw & forg s smeof @ gim?

A 40 Newton/meters

40 gega/HieR

B 20 Newton-meters (Nm)

20 gA-Hiex (Nm)

C 100 Newtons (N)
100 =ge= (N)

D 2 Pascal
2 Uhdl

Answer Given By Candidate:B


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addaik2y7

Question ID:1297, Code:
Section:Mechanical
Question:Which one of the following should be considered during a Brinell Hardness Test
to accurately determine the hardness of a coarse material like a cast iron sample?

fSMeT ThaRar uierur & SR A Uerdf (S dhRe 3MRA) 6l halRdT el Iélen €9 I AuiiRd &= & forg
fFafefea & @ ford eam & war st anfge?

A

D

Usage of thin indenter with low load

A S S TIY Udet S3R T ITANT

Usage of thick indenter with low load

P IS & GIY Ji S8 T I

Usage of thin indenter with high test load
I UAETUT ¥R & 1Y Udet $8cX ol U

Usage of thick indenter with high test load
I UAET0T ¥R o 1Y HIe 38¢x hl ITANT

Answer Given By Candidate:D

Question ID:1298, Code:
Section:Mechanical
Question:When is a circular shaft said to be in pure torsion?

Uk

A

D

JIThR AR Th G 21 H el HAHT ST 872

When it is subjected to unequal and opposite end couples.

STe 39 1A SR faudta AR & goredt o s1efis foharr Sirar 81

When it is subjected to equal and opposite end couples.

STe 39 gAH R fausta R & goredt & srefis foharr Strar 81

When it is subjected to equal and same end couples.

STe 39 GHH 3R A R & goredt & s1efie fomam Siran 81

When it is subjected to unequal and same end couples.

STE S A 3R G Y o givedl oh srefi fomam Strar g1

Answer Given By Candidate:B
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Question ID:1299, Code:
Section:Mechanical
Question:In a heat regenerative cycle, which component serves as a heat recovery device
that utilizes waste heat from the turbine exhaust to preheat the incoming air for
combustion?

Teh AT QTSI sh H, i AT °eeh HSHT TG SUhIUT h TU H R el & STt &g o felq T arett
BT ! Ugel ¥ TRH T oh folT exa1s Aahta O 3ufe AT ol IUTNT hdT 8?2

A Compressor

B Condenser

gufas

C Evaporator

qTSHTehRUTehd T

D Regenerator

PEpIC)

Answer Given By Candidate:D

Question ID:1300, Code:

Section:Mechanical

Question:In turbomachinery, which of the following components form the sides of the
triangle showing the relationships between the different velocity vectors of working fluid
in a turbomachine?

A |, EfaiRaa | @ = 91 e RSt 6 Sy §11dT @ St ediHie srifie gq & fafa= an
gfean & o geet et gfar &2

A Tangential Velocity, Absolute Velocity, and Relative Velocity
TR 31, gui 371, 3R qrder a7

B Rotor Angle, Tangential Velocity, Guide Vane Angle
e hivT, TRENT AT, 7SS d hioT

C Rotor Angle, Utilisation Factor, Dynamic Pressure

e hIvT, IUTNRT chikeh, TidehiT aTd

D Rotor Angle, Absolute Velocity, and Gide Vane Angle
ex ahior, b & 3fR MEE 8 whiur

Answer Given By Candidate:Not Attempted
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Question ID:1301, Code:
Section:Mechanical
Question:How is absolute humidity in the psychrometric process defined?

qrgehiAfeen ufehar # fARUer et st vt aRemiSa forar Strar 8?2

A Mass of Actual vapor pressure at Wet bulb temperature
et Sea ATIA R IRAfdh aTSd 16l T SHHA

B Mass of Saturated vapor pressure at dry bulb temperature
L&k Fod dTTAT TR HJW aTST &1 ehl G HT=

C Mass of water vapor present in 1 cubic metre of dry air

1 o Hiex &k arg H HIS[g STt arsd T Gaq=

D Mass of water vapor present in 1 cubic metre of wet air

1 v+ Hiex Tfieft arg 7 HiSE Siet arsg I gemH =

Answer Given By Candidate:C
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